
F
itt

in
g 

in
st

ru
ct

io
ns




 M

ak
e 

:


 
 
 T

yp
e 

:

M
it
s
u
b
is

h
i

C
a
ri
s
m

a
; 

1
9
9
5
 -

>

2
9
8
2



© 298270/30-09-2008/1Tested in accordance with directives 94/20/EG

© 298270/30-09-2008/26



©298270/30-09-2008/25

©298270/30-09-2008/2



(1x) M12x70/26.2

29
82 (4x) M6x20

2982

(6x) M10x1.25x30

(1x) M10x1.25x35

(2x) M12x65/21.2

(4x) M6
(9x) M10

(3x) M12
(7x) M10

(4x) M6

(3x) M12

(1x) 40x6 L=40

(1x) 40x8 L=40

© 298270/30-09-2008/3

(2x) M10x25

(2x) M10

© 298270/30-09-2008/24



NurfürDeutschland

HINWEISE:

*DiefürdasFahrzeugzugelasseneAnhängelastistdenFahr-
zeugUnterlagenzuentnehmen.BeiÄnderungendes
Fahrzeug-gewichtesmuβdiehöchstzulässigeAnhängelast
gegebenenfallsausdemD-Wertnachgerechnetwerden.
AuskunfthierüberkannIhrFachhändleroderderTÜV
geben.

*ElektrischeAnlagegemäβStVZOanbringen.
*DernachträglicheEinbauderKupplungskugelmitHalterung

nachdieserAnbauanleitungmuβnachdenDeutschen
Vorschriften(§19StVZO)durcheinenbefugten
Sachverständi-genoderPrüferunterVorlagedesKfZ-
Briefesüberprüftwerden.Danachkannvonder
Zulassungsstelle,derEinbauindenKfZ-Scheineingetragen
werden.

©298270/30-09-2008/23
10
00
km

Nm

101719

M6M10x1.25

53Nm 9,5Nm71Nm
M12selflocking

ø6.5 10e1100-0786

75kg1475kg

8.8

8

kg

kg?
Dealer

D-value:7.92kN

Torx27

12

1417

19

©298270/30-09-2008/4



1

3

2x

14

2

4x

10

1

3

3

2
1

1

22

4x

2

HB

© 298270/30-09-2008/5

36

37

© 298270/30-09-2008/22

->ʻ99



1

2x

14

2

4x

10

1

2
3

3

2 2
1

3

4x

©298270/30-09-2008/21

HB

Sdn

2 2
1

35

ʻ99->

©298270/30-09-2008/6

Sdn

2

2
1

ʼ99->

3

4

->ʼ99

4x

4A



12

5

2

1x

14

1

2x

10

5A

1
2

© 298270/30-09-2008/7

4x

34

3x

34A

© 298270/30-09-2008/20



2

1x

14

1

2x

10 33

12

Models;->ʼ99

1 2

33A

2

1x

14

1

2x

10

©298270/30-09-2008/19

6

4

1x

10

Torx271x
5

4

5

6

2x

6

7

©298270/30-09-2008/8

4

1x

10

Models;->ʼ99

Models;ʼ99->

4
30 9+

8



9

10

© 298270/30-09-2008/9

11

3x

12

© 298270/30-09-2008/18

6

6

1x

31

5

4

4

1x

10

Torx 27 1x
5

32 4

1x

10Models; ʼ99->

Models; ->ʼ99

6



ø14mm
ø14mm

2829

©298270/30-09-2008/17

30(1x)M12x65/21,2

(1x)M12x70/26,2

(2x)M12

(2x)M12

19

©298270/30-09-2008/10

12

4x

1013

14

4xø6.5mm



© 298270/30-09-2008/11

(4x) M6x20

(4x) M6
(4x) M6

15

9,5 Nm

10

16

(2x) M10x25

(2x) M10
(2x) M10

23 Nm

17

17

27

© 298270/30-09-2008/16



4x

9,5Nm

10 2425

©298270/30-09-2008/15

3x

23Nm

13

26

18

©298270/30-09-2008/12

(3x)M10x1.25x30

(3x)M10
(3x)M10

19

53Nm

17



(1x) M12x65/21.2

(1x) 40x6 L=40

(1x) 40x8 L=40

(1x) M12

(1x) M12

20

40x6 L=40 40x8 L=40

© 298270/30-09-2008/13

71 Nm

19

(1x) M10x1.25x30

(2x) M10
(2x) M10

(1x) M10x1.25x35

21

M10x1.25x35

M10x1.25x30

53 Nm

17

(2x) M10x1.25x30

(2x) M10
(2x) M10 2x

17

22

(4x) M6

(7x) MF10x1.25

(3x) M12

9.5 Nm

53 Nm

79 Nm

10

17

19

23

© 298270/30-09-2008/14



 
 
    
   HistoryItem_V1
   InsertBlanks
        
     Where: after last page
     Number of pages: 2
     same as current
      

        
     2
     1
     1
     405
     349
            
       CurrentAVDoc
          

     SameAsCur
     AtEnd
      

        
     QITE_QuiteImposing2
     Quite Imposing 2 2.0
     Quite Imposing 2
     1
      

   1
  

    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: scale to A4 (297 x 210 mm)
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     1
     0
            
       D:20080924071545
       1190.5512
       a3
       Blank
       841.8898
          

     Wide
     16
     Single
     601
     225
    
     0
     A4Wide
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2 2.0
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





